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Market demand for X =

Shows how price elasticities for compensated demand curves are related to the elasticity of
substitution.

Examines a formal definition of the elasticity of substitution and shows how this applies in
the CES case.
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For Py=Py=1, Ip=1Ip=16, Iy=25, Iz=100

X=23/2=11.5.
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ex; cannot be computed without knowing whose income changes (see part [b]).

If Pydoubles X =23/4=5.75

=8 X=1091
=50 X=10.04 Is Q{&’/
IfPy=2 X=1626 R T

If ¥ taxed at 100%, demand for X increases by factor of «/5 % e

Now X =10
IflporIg=12.5 X=9.27 .
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Now X =

/

At prior iriédme levels, X = 56.5. LY,
Elasticities now depend on the income levels of the various individuals.

IfPz=2 X=315.
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72 Market demand for 0= .0, = Y a,+ Y b, P+ D, el + 3, d.F'
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Hence, at any given P,( clasticity is the same regardless of I; or P

It Qi=lnai +bilnP+cilnli+diln P'

O=aP"If P

and the market demand function has a complex form. Elasticities now do depend on [;

and P'.
73 a.
Tom Dick
P =50 0 0
=35 30 20
=25 50 60
=10 80 120
=0 100 160
b. "Total" column in (a).
c.,d.
P
50

40

30

20

10

Harry Total
0 0
0 50
25 135
100 300
150 410
— Market Demand

80 160 240 320 400 Q
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If use Slutsky Equation
Lopieny TLAUn )
€x px= €% py " Sx ex s Wl as .{&3"‘ (‘EVI‘(\‘\M‘\R““A
>
But ¢} ,, =0 s,=05
ex ;=1 (since all income is spent on H + C sandwiches).
For both H and C
en p=—05
Use simple algebra:
P=aQ+b

atP, P =aQ" +b

where b is the P-intercept.
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